ASSEMBLY INSTRUCTION

Combination A Combination B

Thank you for purchasing our products. Please contact us if you have difficulty with
assembly or need replacement parts. Our customer service is here to assist you.
Please attach your User Name and Order ID so that we can assist you better.


https://manuals.plus/m/7e4c015866072fa4ade1d49c770c0c0a908cb4b059f6a3d29bb7a4ce777a55d7

/\ WARNING

The product must be assembled by adult before use.

During the assembly process, keep all parts away from babies or children.

Parts List
I
=EE
g=i=nn |
Front Panel (1PC) Back Panel (1PC) Left Panel (1PC) Right Panel (1PC)
Top Panel (1PC) Bottom panel (1PC) Pet mat (1PC)

? Y
T |

4PCS M4°20 2PCS

16PCS M4*12 4PCS 4PCS ,W




Step 1

Assembly Steps

M6*25| X4

Step 2

M6*25| X4




Step 3 Step 4

X2
F*|M6*25| X4 ;ﬁwm*zo X2

Step 5

I[lﬂﬂlln)]ﬂ"

lfl\l || ,
'if il | lllllm

ﬂl‘:./ J{

JJ_L iigh

Bad
“‘ _'

#*|M6*25| X4




When you have completed step 5, you can choose from the following
two combinations to assemble.

Combination A

Finish




Combination B

v
=

Finish




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

